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PCCS 4302

Special Examination — 2012
DATA COMMUNICATION AND COMPUTER NETWORK

Full Marks —70

Time : 3-Hours

Answer Question No. 1 which is compulsory and any five from the rest.

The figures in the right-hand margin indicate marks.

1. Answer the following questions : 2x10

(a) For ‘n’ number of devices in a network, what s the number of cable lines

- required for a mesh ring and bus topology.

(b) Define and differentiate between flow control and error control. Which layer

protocol works for flow control and error control ?
(c) What are the basic characteristic of Data Communication ?

(d) Calculate the highest bit rate of a regular phone line. The signal to noise
ratio is gin by 3162 and bandwidth is given by 3000Hz.

(e) Whatis the problem encountered in NRZ ? Draw a RZ signal for bit string
10001101. :

(f) How do guided media differ from unguided media ? Among coaxial and

twisted pair cable which carries high frequency signal and why ?
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What are the different multiple access protocol ? Collision occurs in which

protocol and why ?

What do you mean by Inverse Domain ? Where it can be applied ?
Differentiate between Unicasting and Multicasting. Where IGMPis used ?
Bridge, gateway and routers are which layer devices ? Deﬁne tﬁeir work.

Explain the working details of each layer in Internet model. How OSI model

differs from Internet model ? 5

What is line coding ? Explain all the line coding schemes with diagram, if
the data to be transmitted is 010011. 5

What do you mearrby topology ? Explain the advantages and disadvantages

of each topology with diagram. 4
(i)  Whatdo you mean by transmission impairment? Explain all of them. 3
(i) Explain LAN, MAN, WAN. - 3

Whatiis the purpose of Hamming code ? How Hamming code works, explain
with taking data as 10011100101 where the 5™ bit is erroneous ? 5

How CRC works, explain by taking data as 100100 and the divisoris 1101 ?
Do it both by polynomial and binary CRC. 5

What is PCM. Explain all the stages for signal conversion and discovery. 5
Discuss MLT3 techniques in digital transmission. 5

What is bandwidth utilization ?'Explain different multiplexing techniques for
better bandwidth utilization. 7

Checksum is used in which layer and why it is used? Explain with taking an

example. - 3
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7. (a) Write the parameters on which Network performance depends ? Write two
protocols used for congestion Control. : 5
(b) Write the difference between TCP and UDP. Why and where these are
used? 5
8.  Write short notes on any four : 2.5x4
(a) HTTP
(b) Piggybacking
(c) Go-BackandARQ

Cross-bar switch and Multistage switch
SMTP
TDMA
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